FATTRFEHEASETE 2 15

PR 2 TH4 A 1 2 HITORE SRR BRI D ekliE e Edh| 2B+
HICCHREEDEE %, ABGEAESE 1 9 28 1HOBEIZEY, ROLBVARLE
EE

WRk2 74F11H17H

FESTTEFE LA R

ZERk R FE

1 BEEEONHH

PRk 2 THEAH 1 2 AP TRENTTEREA s (EKEZEX)

2 PNBEFEOBIEIC L 58 FERN B 5 S OB HIFRAR (RSt iEdih e )
5,968,500

3 WEEOEEF



e # & K 4 ¥ ST BRI H AN 3 pE 3] VR 2 TH3 H4BND
] %1 B4y
HAN AT K4 W B T2 7TH4HA11HET
A X
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE -
a FRE 138, 000
SN 707, 600 e B 135, 000
X EES ELDYE 3, 000
WEE 27,676
A E -
SN TlE=¢ 711, 200
TR 77, 400
PRy 36, 967
e 25, 794
% -
ME B 71, 549
Z DA D AT 4 -
Z DL DY 68, 500
ALy ] B 776, 100 £ [ B 1, 088, 586
Z[] =] = - E[] A g -
i 3 776, 100 Y = 1, 088, 586
IH H 4 #H
T D O BAE A Y% - -
AR X —DIVERL 506, 000

e EHAEA R

SRk 2 THE4H 2 7H




e # & K 4 JARiCINER: % AT I e Uk [EeREN T2 7TH2H 1 2 BND
HA R %1 B4y
HAN AT K4 Frf - med T2 7TH4H21HET
XA X
F7- 5 FAT
(K4 - Hik4) (B ) (% F15H) NEE 240, 000
! E3 ¢ 50, 000
B m AR R 630, 000 R HIETE 50, 000
IR A HEESGE _
Al Bk R A 1, 500, 000 HIEE -
PN ST 41,100
BN TlE=¢ 770, 126
= 355, 842
SCHEE 17, 253
BAEE 109, 544
% -
ME 73, 420
Z DAt D FAF 4 -
Z OHDULA -
L E| 3 2, 130, 000 &y [B] B 1, 657, 285
Z[] =] 5 - E[] ] g -
i 3 2, 130, 000 b 2 1, 657, 285
IH H 4 %
XD O HAE A Y% - -
R A X —DIVERL 750, 126

e EHAEA R

SRk 2 THE4H 2 7H




foc #li & K 4 AR TITERS BIENAS R W2 THEAH 2 2 A

H ] 55 2 [\5y
HAN AT K4 AR ) TRk 2 7TH#5H13HZET
A X
7256 M
(K4 - Hik4) (B ) (FfH4E8) NEE 182, 250
! E3 ¢ -
- R HE T -
ELDYE -
SHEE 21, 621
AR 3, 300
SN TlE=¢ 9, 785
s -
SCEE -
BAEE -
(SIEE=¢ -
ME 324
Z DA D AT 4 -
Z DL DL -
£ =] H - £ =] H 217, 280
A E| B 2, 130, 000 E(i} [ B 1, 657, 285
S 3 2, 130, 000 Y = 1, 874, 565
I H & #H
XD 9 HAEAMHM Y% - -
R A A —DVERR - M

WEEZHEAH k2 745 H 2 0H 5 2 [ElRE oy




e # & K 4 AN N FrEIk  |HHRER TRk 2 7TH2 H 2 8 A
] %1 [\
HAN AT K4 /R BT T2 7TH4H11HET
A X H
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE 443, 000
! E3 ¢ 23, 500
H EEEHEEJ?T%B 500, 000 ST -
[SBETISE e EAESE 23, 500
JCEB AT 12 BB 200, 000 WEE -
JERTH AR E 50, 000 A -
M BN TlE=¢ 457, 488
TR 202, 000
PRy -
B 58, 195
% -
M -
Z DA DO FFFF 814 35, 200
T OO 527, 000
L E| 3 1,312, 200 &y [B] B 1, 184, 183
Z[] =] = - E[] A # -
S 3 1, 312, 200 b 2 1, 184, 183
IH H 4 %
T D O HAEA Y% - -
R A X —DVERL 344, 088 M
s ESZ A H SRk 2 T4HE4 H 2 4 H 551 [BlHE 5




e # & K 4 BRI Pt I 5E Uk HEHT D, FRk2 7TH2H 1 6 BnbD
] 1[4y
HAN AT K4 BRI V2 TH4H 16 HET
A X
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE 81, 000
a FRE 237, 044
HEBT O W HUAT 300, 000 e B 237, 044
gt EEDYE -
HAE -
A E -
SN TlE=¢ 774, 900
SR -
H# 7,575
BAEE 1, 599
(ZSIEE=¢ -
ME B 2, 484
Z DAt D AT 4 -
Z D DIY 450, 000
Ly ] B 750, 000 £ [ B 1, 104, 602
Z[] =] 5 - E[] ] g -
S 3 750, 000 Y 2 1, 104, 602
IH H 4 #H
T D 9 HAE A Y% - -
R AL —DIVERL 774,900 M

e EHAEA R

SRk 2 THE4H 2 7H




e # & K 4 BRI BRI HEHT D, TRk 2 TH4H 2 4 B
] %2 [\l
HAN AT K4 BRI k2 7TH5H13HET
A X
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE -
M E3 ¢ -
- R HE T -
ELDYE -
HEE -
A E -
SN TlE=¢ 93, 312
= 95, 040
SCEE -
BAEE -
(SIEE=¢ -
ME B 10, 000
Z DA D AT 4 -
Z DL DL -
£ | H - 4 El| H 198, 352
B = 2 750, 000 E[] [B] B 1, 104, 602
S 3 750, 000 Y 2 1, 302, 954
IH H 4 %
IO D HAE A Y% - -
R A A —DVERR - M

e EHAEA R

VR 2 THETH2 1A




e #li & K 4 AR DR TSIk [HAILEES V2 THE3 A 15 AN

I %1 m5y
AR K4 T E— V2 7421 HET
A HY
7256 M
(K4 - Hik4) (B ) (FfH4E8) NEE -
M FRE 127, 000
SN 437, 640 e B 117, 000
Bl P = ELDYE 10, 000
WTE =BR Bl 20, 000 BEE 36, 000
HH E ] T 100, 000 LYSGIL- ¢ -
SN TlE=¢ 711, 200
SR 69, 440
Hi 23, 027
ket 36, 750
% -
ME 3, 726
F D D FfFF 1444 75, 400
Z DA DU 505, 000
L E| 3 1, 138, 040 =y [ B 1,007, 143
E[] =] 4 - E[] 5] g -
S 3 1, 138, 040 Y = 1,007, 143
I H & #H
T D 9O BAE A YA - -
AR X —DIVERL 506, 000

WEEZHEAH k2 THE4H 2 7H %1 [ERE oy




o # & K 4 HiE (E AT I e Uk NGRS TRk 2 7TH2H 2 5 B
51 [\5y
HAN AT K4 BN B VR 2 TH4H15HET
XA
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) -
a 2,195, 122
INBHSE SRR 2 3,171, 215 R HE T 2,195, 122
KSR oy -
28, 602
485, 316
438, 992
26, 773
355, 697
50, 213
Z DAt D FAT 4 -
Z DAt DY -
A E = 3,171, 215 s = 3, 580, 715
Z[] =] = - Al g -
i 3 3,171, 215 b 2 3, 580, 715
IH H 4 %
XD O HAE A Y% - -
AR X —DIVERL 409, 500 [

e EHEA R

SRk 2 THE4H 2 7H




e # &= K 4 HiE &FE BiNERRU NI, ERk2 7THE4H 16 D
HATH] 5% 2[4y
HR LA K4 BN =3 W2 TH5 H8HET
YA X
725 M
(K4 - HR4) (B 26) (FHHER) NEE -
5! R -
NI IR 2 59, 668 WAL -
K3 ELE5E -
WE 2 35, 236
A E -
BN TlE=¢ -
s -
SCEE -
BAEE -
% -
ME 24, 432
Z DD T —f: -
Z DL DY -
A [H] 2 59, 668 AL [H] = 59, 668
2] =] = 3,171,215 i [H] 2 3, 580, 715
b 2 3, 230, 883 i i 3, 640, 383
I H 4 FH
XD O HAEAHIE Y EE - -
R A H —DIERK -

WiEEZHEHHA VR 2 745 H 1 1 H




HOIE A

e # & K 4 R AEAY Pt S Uk g TRk 2 7TH2H 2 5 Bnb
i L Il % 1[5y
HAN AT K4 L Bk TRk 2 7TH4H18HET
A X
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE -
a FRE 183, 717
- B HS T E 172, 217
AP 11, 500
HEE -
A E -
SN TlE=¢ 547, 680
= 225, 000
Ry 270
i 115, 557
(SIEE=¢ -
ME B 26, 990
F D D F 544 13, 700
Z DA DU 1, 563, 000
A E 2 1, 576, 700 &y [B] B 1,099, 214
E[] =] 4 - E[] [A] g -
o 3 1,576, 700 Y = 1,099, 214
IH H 4 FH
T D O HAE A Y% - -
AR X —DIVERL 444, 000 [

e EHAEA R

VR 2 7TH4H 2 3 A




HOIE A

e # & K 4 R AEAY Pt e Uk g T2 7TH4H 1 9 MG
AHDIE ) g %5 2 A4y
HAN AT K4 R B TRk 2 7TH#5H13HET
XA X
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE -
M E3 ¢ -
- R HE T -
ELDYE -
BEE 11, 298
A E -
SN TlE=¢ -
SR -
SCEE -
BAEE -
(SIEE=¢ -
ME B 8, 298
Z DA D AT 4 -
Z DAt DY -
N ] Z _ 7S = = 19, 596
Ei] E| 2 1,576, 700 Al El| B 1,099, 214
i 3 1,576, 700 b 2 1,118, 810
IH H 4 %
T D O HAEA Y% - -
R A A —DVERR - M

e EHAEA R

VR 2 7THES5H 14 A




e # & K 4 A EH— FrEIk  |HHRER FRk2 782 H 1 5 b
H ] 51 [\5y
HAN AT K4 (A FoiE T2 7TH4HA27HET
A X
F7= 5 %) M
(K4 - Hik4) (B ) (FfH4E8) NEE 746, 000
M FRE 704, 157
H R R 600, 000 R HIETE 656, 757
A2 AP 47, 400
B B R 357 RS 300, 000 BIEE -
5 — e X S A E -
JERTH H AR E 50, 000 SN TlE=¢ 626, 700
M N ¢ 1, 443, 620
A Fnz SRR 300, 000 SCHEE 8, 000
H R D 30, 000 B 15, 320
A R RN 35 win% -
KEF b2 7 Fhm 54, 000 M B 149, 181
Z DD FFFF 1F 3, 600
Z DDA 4, 385, 240
= | = 5,722, 840 &y [B] B 3, 692, 978
E[] =] = - E[] [A] E -
o 3 5, 722, 840 b = 3,692, 978
IH H 4 #H
XD O HAE A Y% - -
RN A —DIERR 480, 900 [

e E A R

SRk 2 THE4H 2 7H




e i & K 4 WA

Bk  |H HRE V2 T4 0 2 8 B b

I %2\
HAN AT K4 (A FoiE k2 7TH5H18HET
A X
7256 M
(K4 - Hik4) (B ) FHHER) NEE 441, 000
- M FRE 98, 600
B FS T 98, 600
ELDYE -
SHEE 56, 747
A E -
SN TlE=¢ -
s -
SCEE -
BAEE -
(SIEE=¢ -
ME 24, 550
Z DA D AT 4 -
Z DA DYYL -
£ =] H - £ El| H 620, 897
A E| B 5, 722, 840 E(i} [ 7 3, 692, 978
S 3 5, 722, 840 Y = 4,313, 875
I H & #H
T D 9O BAE A YA - -
R A A —DVERR - M
s ESZ A A H SRk 2 745 H 1 9 H 55 2 [R5

(Epfg P B 2 F55 Ja i %R




